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Question 3
A factory makes packs of sweets.  Each pack contains 8 sweets. They have 798 sweets. How 
many full packs of sweets can they make?

Question 1
The Oak Travel end of year celebration meal costs £495. There are six people who ate and 
they decide to split the bill between them equally.  How much does each person owe?
Question 2
Michael and Tom are farmers and have both bought new fields. The perimeter of Michael's 
field is 525 metres. The perimeter of Tom's field is four times less than this. What is the 
perimeter of Tom's field?

1) Draw a bar model
2) Estimate a quotient size
3) Calculate
4) How have you interpreted the remainder?


